
https://www.pass2lead.com/1z0-521.html
2024 Latest pass2lead 1Z0-521 PDF and VCE dumps Download

 

 

 

1Z0-521Q&As

Oracle E-Business Suite R12.1 Order Management Essentials

Pass Oracle 1Z0-521 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-521.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-521 Dumps | 1Z0-521 Practice Test | 1Z0-521 Exam Questions                                1 / 3

https://www.pass2lead.com/1z0-521.html
https://www.pass2lead.com/1z0-521.html
https://www.pass2lead.com/1z0-521.html


https://www.pass2lead.com/1z0-521.html
2024 Latest pass2lead 1Z0-521 PDF and VCE dumps Download

QUESTION 1

Which two statements are true regarding partitioning of data by an application? (Choose two) 

A. General Ledger is portioned by Ledgers 

B. Accounts Payable is portioned by Ledgers 

C. Fixed Assets are partitioned by Operating Unit 

D. Accounts Receivable is partitioned by Operating Unit 

E. Order Management is partitioned by Inventory Organization 

Correct Answer: AD 

 

QUESTION 2

Which three activities are the parts of shipping process in order to cash cycle? (Choose three) 

A. Scheduling the order line 

B. Splitting sales order lines 

C. Assigning deliver to trips 

D. Decrementing inventory after ship has happened 

E. Moving materials from factory to the stocking warehouses 

F. Create move orders to transfer the items to the shipping Subinventory 

Correct Answer: CDF 

 

QUESTION 3

You are reviewing the Oracle Internal Sales Order process functionality with the logistics manager of XYZ Corporation. 

Which two statements are true regarding the features of internal sales order process? (Choose two.) 

A. An Internal Sales Order can be created manually. 

B. An Internal Sales Order creates an Accounts Receivable invoice. 

C. An Internal Sales Order does not generate an Accounts Receivable invoice. 

D. An internal sales order can be created in an operating unit different from that of the internal requisition. 

E. An internal sales order can be generated only in the same operating unit where the internal requisition is created. 

Correct Answer: CD 
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QUESTION 4

Identify the profile option that is required to enable Multi-Org Access control for multiple operating units. 

A. HR: User Type 

B. MO: Operating Profile 

C. MO: Security Profile 

D. HR: Business Group 

E. MO: Default Operating Unit 

Correct Answer: C 

 

QUESTION 5

Identify two features of an "Independent" value set. (Choose two.) 

A. There is a predefined list of values for a segment. 

B. The values are stored in a product applications table. 

C. The values are stored in an Oracle Application Object Library table. 

D. You can enter a value other than those in the predefined list of values. 

Correct Answer: AC 
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